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Virgin Media  Fig 7.2 &7.22 and 1.2 This is a specific query on WLR. The 
current price is £103.68 (e.g. figure 
7.2); RPI =  4.5% (figures 7.22); X = 
4.5%; Therefore RPI-X to derive price 
from March 2012 is 0%. Therefore I 
make charge control price for 1st period 
£103.68, but the consultation states 
£103.70 (as per figure 1.2). Can you 
explain this?  

You do understand the calculation 
correctly.  £103.70 is rounded to the 
nearest 10 pence.  Accuracy to the 2 
decimal places seems inappropriate given 
the range of assumptions under 
consultation. 

 


